

Kentucky Transportation Cabinet

TC 20-33

	ice of Local Program: PA CHANGE ORDER	5		07/2010
age I	D			
contract ID	Project Sponsor			
Change Order No	County			
Contractor	Project Number			
Contractor	Project Name			
ddress Sproposed Changes in Connection with Contra	9 set (tems)			
Item Proposed Changes in Connection with Contra	act items.		<u></u>	
No. Description	Quantity	Unit	Unit Price	Amount
				6,000.00
				-2,020.00
				-1,905.00
				-3,600.00
				-30,600.00
		7	otal for this Page	-32,125.00
	ī	otal for Con	tinuation Page(s)	-13,972.87
			al Contract Items	-46,097.87
Proposed Items of Supplemental Agreement:	•			,
Ref.				
No. Description	Quantity	Unit	Unit Price	Amount
				· · · · · · · · · · · · · · · · · · ·
ime Extension/Explanation:		7	otal for this Page	0.00
	7	otal for Con	tinuation Page(s)	
	To	otal Supplem	ental Agreement	0.00
			_	
		Total De	ecrease Amount	(\$ -46,097.87
Assess for Proposed Changes and Cost Applysia:				
teasons for Proposed Changes and Cost Analysis:				
Change in scope and pay quantities.				
		2	1 20 /	
If approved by Transportation Cabinet, the undersigned contractor a	grees to Requested	\mathcal{A}	ell hero	6/7/11
do the work outlined herein and to accept as payment in full the basi payment as set forth herein.	s of	Project Engineer		DAT
payment as sectional nerelli.	Recommended			
		District LPA Coor	dinator	DAT
Adams Contracting, LLC	Recommended	Commissioner of	Rurel & Municipal Aid	DAT
Contractor Contracting, LEC	Approved			
By: Statt a		LPA Signature A	uthority	DAT
				
6-9-17		Title		DAT
Dete	Approved		sportation Cabinet	DAT
		Secretary of Traf	reportation capitlet	UA1

Mayor I'm Gray



Kentucky Transportation Cabinet Office of Local Programs LPA CHANGE ORDER

TC 20-33 07/2010

Page

Contract ID

P02-628-1100001626

Project Sponsor

Lexington-Fayette U

Change Order No

1 Final

County

Fayette

Contractor

Adams Contracting, LLC

Project Number

Contractor

501 Darby Creek Rd., Suite 18

Project Name

W. Loudon Ave Side

Address	Lexington, KY 40509

No.	-	Description	Quantity	Unit	Unit Price	Amount
15	DEL	Tree Protection Fencing	-900	LF	\$1.00	-900.00
17	DEL	DGA	-59.49	TN	\$30.00	-1,784.70
21	DEL	Project Sign	-2	EA	\$600.00	-1,200.0
22	DEL	MUTCD Signage	-2	EA	\$500.00	-1,000.0
23	DEL	Permanent Pavement Markings	-300	SF	\$7.00	-2,100.0
26	ADD	On-Site Railroad Inspector	1	DA	\$650.00	650.0
27	DEL	Payment and Performance Bond	-0.0705	LS	\$6,500.00	-458.1
28	DEL	No. 2 Stone	-30	TN	\$35.00	-1,050.0
29	DEL	No. 57 Stone	-30	TN	\$35.00	-1,050.0
35	DEL	Edge Key	-306	LF	\$20.00	-6,120.0
40	DEL	MUTCD Signage	-1	EA	\$500.00	-500.0
43	ADD	Tactile Warning Tile (labor only)	44	SF	\$35.00	1,540.0
-						
	Ī					
				I		
						-
					1	
					1	-
	1				1	

Reasons for Proposed Changes and Cost analysis:



Kentucky Transportation Cabinet Office of Local Programs LPA CHANGE ORDER

TC 20-33 07/2010

Page

3

Contract ID

P02-628-1100001626

Project Sponsor

Lexington-Fayette U

Change Order No

1 Final

County

Fayette

Contractor

Adams Contracting, LLC

Project Number

Contractor Address 501 Darby Creek Rd., Ste. 18

Lexington, KY 40509

Project Name

W. Loudon Ave Side

No.	Description	Quantity	Unit	Unit Price	Amount
		_	ļ <u> </u>	ļ	
			<u> </u>	 	
				 	
				 	<u>. </u>
					
					
				ļ	
			<u> </u>	 	
				+	
			 	 	
					
			<u> </u>		
				1	-
				ļ <u> </u>	
					···

Reasons for Proposed Changes and Cost analysis:



Kentucky Transportation Cabinet Office of Local Programs **LPA CHANGE ORDER**

TC 20-33 07/2010

Page

Contractor

Contractor

Contract ID Change Order No P02-628-1100001626

1 Final

Adams Contracting, LLC

Lexington-Fayette Urban County Ge

County

Project Number Project Name

Project Sponsor

W Loudon Ave Sidewalk

Fayette

501 Darby Creek Rd., Ste. 18

Address	Lexington, KY 40509
Reasons for I	Proposed Changes and Cost Analysis:
1	l de la companya de

CONTRACT HISTORY FORM

CO #1

Project Name W. Loudon Ave Sidewalk Project							
Contractor:	Adam	s Contracting, LLC					
Contract Number and Date:	253-2017	September 29, 20	16				
Responsible LFUCG Division:		Engineering					
CONTRACT AND MODIFICAT	TION DETA	<u>ILS</u>					
A. Original Contract Amount:			\$	328,980.00			
Next Lowest Bid Amount: \$366,671.02							
B. Amount of Selected Alternate or	Phase:		\$				
C. Cumulative Amount of All Previo	us Alternates	s or Phases:	\$	328,980.00			
D. Amended Contract Amount:			\$	328,980.00			
E. Cumulative Amount of All Previo	us Change C	Orders:	\$	0.00	0.0% (Line E / Line D)		
F. Amount of This Change Order:			\$	-46,097.87	-14.0% (Line F / Line D)		
G. Total Contract Amount:			\$	282,882.13	, ,		
SIGNATURES	<u> </u>	′ 10					
Project Manager:	- Lev	Stora	<u>.</u>	Date: 6/14/17			
Reviewed by:	Mil	ntoli	<u>-</u>	Date: 6/14/17			
Division Director:				Date: 6/19/17			

LEXINGTON-FAYETTE URBAN COUNTY		Date:	May 19, 2017	
	VERNMENT CONTRACT CHANGE ORDER	Project:	West Loudon Avenue Sidewal	
	Page 1 of 4	Location:	West Loudon Avenue	
o (Contr	ractor):	Contract No.	253-2016	
	Adams Contracting, LLC	Original Contract Amt.	\$328,980.00	
	501 Darby Creek Road, Suite 18	Cumulative Amount of Previous Change Orders	\$0.00	
Lexington, Kentucky 40509		Percent Change - Previous Change Orders		0.00%
		Total Contract Amount Prior to this Change Order	\$328,980.00	
		Change Order No.	1 FINAL	
	You are hereby requested to comply with the following	g changes from the contract pla	ans and specification;	
-	Current Cha	ange Order		
Item No.	Description of changes-quantities, unit prices, change in completion date, etc.	Decrease in contract price	Increase in contract price	
	See Attached Sheet			
	Total decrease	\$54,287.8	7	
-	Total increase		\$8,190.00	
	Net Amount of this Change Order	-\$46,097.8	7	
	New Contract Amount Including this Change Order	\$282,882.1	3	
	Percent Change - This Change Order			-14.01
	Percent Change - All Change Orders			-14.01
The tim	ne provided for the completion in the contract and a	ll provisions of the contract v	vill apply hereto.	
Recom	nmended by Jeph Lone M	(Proj. Engr.) Date_	6/14/11	
Accept	ted by Statt	(Contractor) Date_	, ,	
Appro i	ved by	(Director) Date	' 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	
Approv	ved by War Man	(Commissioner) D		
Appro	ved by	(Mayor or CAO) Da	ite 11-Jul-2017	

LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT **CHANGE ORDER**

DATE:

May 19, 2017

Change Order #: 1 FINAL

CONTRACT #:

253-2016

Project:

West Loudon Avenue Sidewalk

You are hereby requested to comply with the following changes from the contract plans and specifications;

Item No.	ADD / DEL	Description of changes	Units	Quantity	Unit Price	Decrease in contract price	ln	crease in contract price
5	ADD	Seeding and Protection	SY	6000	\$1.00	\$ -	\$	6,000.00
7	DEL	Sodding	SY	404	\$5.00	\$ 2,020.00	\$	_
10	DEL	Tactile Warning Tile (labor only)	SF	127	\$15.00	\$ 1,905.00	\$	-
11	DEL	Sidewalk Ramps	SY	40	\$90.00	\$ 3,600.00	\$	
12	DEL	Concrete Sidewalk	SY	510	\$60.00	\$ 30,600.00	\$	
15	DEL	Tree Protection Fencing	LF_	900	\$1.00	\$ 900.00	\$	•
17	DEL	DGA	TN	59.49	\$30.00	\$ 1,784.70	\$	-
21	DEL	Project Sign	EA	2	\$600.00	\$ 1,200.00	\$	•
22	DEL	MUTCD Signage	EA	_2	\$500.00	\$ 1,000.00	\$	-
23	DEL	Permanent Pavement Markings	SF	300	\$7.00	\$ 2,100.00	\$	-
26	ADD	On-Site Railroad Inspector	DA	1	\$650.00	\$ -	\$	650.00
27	DEL	Payment and Performance Bond	LS	0.0705	\$6,500.00	\$ 458.17	\$	
28	DEL	No. 2 Stone	TN	30	\$35.00	\$ 1,050.00	\$	
29	DEL	No. 57 Stone	TN	30	\$35.00	\$ 1,050.00	\$	
35	DEL	Edge Key	LF	306	\$20.00	\$ 6,120.00	\$	
40	DEL	MUTCD Signage	EA	1	\$500.00	\$ 500.00	\$	<u>.</u>
43	ADD	Tactile Warning Tile (labor only)	SF	44	\$35.00	\$ -	\$	1,540.00

- -	LEXINGT	ON-FAYETTE URBAN COUNTY GO	VERNMEN	T	DATE:	May 19, 2017				
		CHANGE ORDER			Change Order #:	1 FINA	L			
					CONTRACT #:	253-201	16			
Pro	ject:	-	West Lo	udon Av	enue Sidewalk					
	-	You are hereby requested to comply w	vith the followin	g changes	s from the contract	plans an	nd specifications;			
Item No.	Description of changes Onits Quant		Quantity	Unit Price	Decre	ease in contract price	Increa	se in contract price		
								···		
Total d	ecrease					\$	54,287.87			
Total in	crease							\$	8,190.00	
Net (inc	crease) in cor	ntract price						\$	(46,097.87)	

		<u>.</u>	Page 4 of 4						
		PROJECT:	West Loudon Avenue Sidewalk						
J	USTIFICATION FOR CHANGE	CONTRACT NO.	253-2016						
		CHANGE ORDER:	1 FINAL						
1.	Necessity for change:								
, ,	,								
2.	Is proposed change an alternate	bid?Yes	<u>(_</u> No						
3.	Will proposed change alter the p	hysical size of the	e project?Yes <u>X</u> No						
	If "Yes", explain.								
4.	Effect of this change on other pr	rime contractors:	N/A						
5.	Has consent of surety been obtained?Yes _X_Not Necessary								
6.	Will this change affect expiration or extent of insurance coverage?Yes _X_No								
	If "Yes", will the policies be extended?YesNo								
7.									
	•								
8.	Effect on contract completion da	ate: N/A							
	λ.	(m. 1	\ 1 20.0						
		May May							
1	()	Meyor	Date						